ERRKRDHES

ERT—IN—2IBISH—F

2023528118 (£) 20EHEE4H

Nl ek S OAFSETRUE YS5%3E EDEEIREECE
[AXE%]) 1%&:370,00 9 ~ 2%&:118,000H  3#&:67,00MH / 4%&:44,000H  53&:30,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 3| FIWI—R i3 ?ﬁﬂa@fﬂ' 1:33.7 5-5-4-1 |39.9| — 1 4401 %g{g?\ (£=)
. (=) =
RIFRITISHY BTSvIFAN 00 | or—1
2 2 TZIVTw RNTT 4 3 g{;’fﬁéii 1:(343.1 3-3-5-2 | 40.3| — 5 397 22? 5%(gi;)
= o ) o =
R:bE—R3—F— BN\VILIT ALY (-4) RER IS
: <5 4t 3 | HPEA 1:35.1 2-2-2-3 |41.5] — 7 | 424 |t (1£E)
317|8 | FV—RTVT UL 54.0 5 B
RTIN—T BA—T AL © O | ysrRzE—TL
b ) — s 3 | WOR 1:35.6 9-9-10-7 |40.9| - 2 | 483 |HEM (£2)
afg) 7| Z2A—I9NT .0 @172 o |ET®
R:FVHh—T0 B:IVIU BE IE—
5 6 | URVI VKM 4 3 ;‘?ﬁ%ﬂ 1:(36).3 10-10-9-8 | 41.6 | — 3 | 462 %E%g (t£23)
: 4 ) | P
RiAVAYT—vay B:IVYRTISFF (-2) BINTT7—L
K s 3 | AllliEg 1:36.4 4-4-3-5 | 42.7| — 8 385 | BEY (EE)
6 @10 7 LEFT 54.0 =) Cra) | TEPEEE
RivFIVAA BTNV P
71117 LAY TIL—LA 4 3 %Ublﬁ,% 1( :36.;1 8-6-7-6 | 42.0| — 9 439 %g%i (£=)
. N 6 | =
Ribh=—trya—5Y BTISZERT 11— 6 = B
glglg| Z7ILaVIILT 3| LIS 1:(37).0 6-8-8-10 | 42.4| — | 10 | 420 %LE; (£8)
: 3 o =
RAX—RT 7Y BiRU /T4 7S =1 $#A BE
4 3 | WTHRE 1:37.3 7-7-6-9 | 43.0| -— 4 486 | BB (I£8)
9/5/5 /:Fi/g UTL 56.0 a1/ (1) | JLAAsEt
RPYUF—TH04F B:NvIF—x BeE s
S S )y F—— 4 3 | XA 1:37.5 1-1-1-4 | 44.0| — 6 462 | BIIEX (E8)
En4 JJ?’J:EJ?‘ = #53.0 G/4) 1) [SRE®
R:TSvIIAR BUIRIVI—/ YIRIVT7—L
@ 11— —BERIEI
13—7F— 4,8,2,10,3,9,5,1,7,6
20— — 4,8,2,10,3,1,5,9,7,6
IT=5r= 4,8,10,3,2,5,1,9,6,7
41—+ — 3,2,8,4,10,1,7,6,5,9
o ILRE
BB 3 140 JA R 2-3 8004 & 2-3 1,480 3ER 2-3-8 8,810M
B B 3 110 3-8 900 5 & 2=2) 2,020/ 3Es 3-2-8 16,980M3
2 430 2-8 3,720 oS- 1 3-2 2,110M
8 520
ABCDOVTIRHTERERRODDZ, THERAILZETL




